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1-2

N
(m ( ) | ( )
y (kN/m3) |y = (kN/m3)
o
o
o
o w4 L 1.000 5 18.000 9.000
o
o
~
o
2 5.000 6 16.000 7.000
3 3.000 30 20.000 10.000
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1-3

@
( )
( )
@
(T-25)
o2 P (L1+i) B

(2 H+0.2)

2 x 100 x ( 1+ 0.450 ) x 0.900

2.75

Y s
ys
Y w
Y ¢

(2x 2.000+0.2) x 2.75

18.000  (KN/m?)
9.000 (KN/m?)
10.000  (kN/m3)
24.500  (KN/m?)

= 22.597(kN/m2)

0.450
B 0.900
H 2.000 (m)
B H(m) i
H 1.0m 10 H 1.5 0.5
Bt 4m ’ 1.5 H 6.5 0.65-0.1H
H 6.5 0
0.9
W2 = 10.000 (kN/m2)
(©)
a 1.00
K 0.5
GL- 0.500 (m
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*

( SD345 )

ook 24.000

O ca 8.000

T cal 0.400

T ca2 0.783

T 0a 1.600
3/40 ca

O sa 160.000

n 15
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(N/mm2)
(N/mm2)
(N/mm2)
(N/mm2)
(N/mm2)

(N/mm2)
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€Y

Pvia = a (ys H +y¥s Hu)

1.00 x ( 18.000 x 0.500 + 9.000 x 1.500 ) = 22.500 (KN/m2)
Pvib =Y w Hu

10.000 x 1.500 = 15.000 (kN/m2)

W1 = 22.597 (kN/m2)

Pvia =V ¢ hy

24.500 x 0.300 = 7.350 (kN/m2)

Pvic

Pvi = 67.447 (kN/m2)
a : 1.00
H : 0.500 (m)
Ho 1.500 m
h1 : 0.300 m
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@

N ( ) ( )
(m v (KN/m?) v " (kN/TR)
1 1.000 18.000 9.000
2 5.000 16.000 7.000
3 3.000 30 20.000 10.000
Phpy =K (W +y H +vy~ Hi@y)) + vy W Hu@)
K 0.5
W 10.000 (KN/m2)
y ) (KN/m?)
vy’ ) (kN/m?)
H (m)
Huciy i
i ( ) ( )
i (m H  (m) Huciy (m) y (kN/m3) y = (kN/m3) Puciy (kN/m2)
1 2.150 0.500 1.650 18.000 7.606 32.275
2 5.500 0.500 5.000 18.000 7.200 77.500
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®

a)

yoo  24.5 (kN/m?)

X1 Y1 X2 Y2 t W
(m) (m) (m) (m) (W) (m) (kN) (kN) (kN)
W1
3.000 6.000 0.300 0.000 132.300
2.300 5.400 0.150 4.245
136.545
W
3.000 6.000 0.400 0.000 176.400
2.300 5.400 0.000 0.000
176.400
W3
3.000 6.000 2.300 5.400 3.000 0.000 410.130
3.000 0.000 0.000
410.130
W=W + Ws+ Wa ( ) 546.675
b)
Pv2 = Pug + W / Av = 60.097 + 546.675 / 18.000 = 90.468 (kN/m2)
Pua (Pv1 - Pvid) 60.097 (kN/m2)
W 546.675  (KN/m)
Av : 18.000 (m2)
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€

Be

VH<—

Pv1

kN/m2

67.447

Pu1

KN/m?

32.275

PH2

KN/m?

77.500

Pv2

kN/m2

90.468

25 (kN/m2)

(m

Q)

3.350

0.004

2.650

0.002

3.350

0.004

(W (N |-

2.650

0.005
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-1-111

@ (i+2d) (j-2d) a
M _56.965 _9.468 26.169 _8.901 _44.601
N 99.106 99.106 99.106 99.106 99.106
0 108.226 68.344 ~2.649 -56.251 ~75.647
M _44.691 _2.079 20.967 _2.079 _44.601
N 75.647 75.647 75.647 75.647 75.647
0 99.106 58.716 0.000 _58.716 ~99.106
M _44.691 _8.901 26.169 _9.468 _56.965
N 99.106 99.106 99.106 99.106 99.106
0 75.647 56.251 2.649 _68.344 ~108.226
M _56.965 _1.238 28.901 _1.238 _56.965
N 108.226 108.226 108.226 108.226 108.226
0 129.609 76.787 0.000 ~76.787 ~129.609
(kN m)
(kN)
(kN)




®

-44_691 -44 691
-44 691 -44.691
20.967
26.169 26.169
28.901
-56.965 -56.965
-56.965 -56.965
75.647 75.647
99.106 99.106
99.106 99.106
108.226 108.226
99.106
75.647
-75.647
-99.106
-129.609
-108.226
108.226
129.609
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(kN)

(kN)

(kN m)



*

1 2
M kN m -56.965 -9.468 26.169 -44.691 -2.079 20.967
N kN 99.106 99.106 99.106 75.647 75.647 75.647
Q kN 108.226 68.344 99.106 58.716
B m 1.000 1.000 1.000 1.000 1.000 1.000
H m 0.350 0.350 0.350 0.300 0.300 0.300
dc m 0.080 0.080 0.080 0.080 0.080 0.080
dt m 0.270 0.270 0.270 0.220 0.220 0.220
A D16@125 D16@125 D16@125 D13@125 D13@125 D16@125
> cm? 15.888 15.888 15.888 10.136 10.136 15.888
A D16@125 D16@125 D16@125 D16@125 D16@125 D13@125
*t cm2 15.888 15.888 15.888 15.888 15.888 10.136
U m 0.400 0.400 0.400 0.400 0.400 0.320
Ns 15 15 15 15 15 15
X m 0.104 0.248 0.126 0.091 0.300 0.090
Oc N/mm?2 4.983 0.718 2.219 5.625 0.352 2.940
O ca N/mm?2 6.000 8.000 8.000 8.000 8.000 8.000
(o] (@] (@] (o] (@] (o]
Os N/mm?2 118.737 0.958 37.942 119.599 0.000 63.546
0 sa N/mm?2 160.000 160.000 160.000 160.000 160.000 160.000
o () () o () o
T N/mm?2 0.401 0.253 0.450 0.267
T a N/mm?2 0.800 0.400 0.800 0.400
(o] (@] (o] (@]
T o N/mm?2 1.152 0.728 1.295 0.767
T 0a N/mm?2 1.600 1.600 1.600 1.600
o [e) o [e)
A
! cm?
Qc N/mm?2
Qs N/mm?2
o N/mm?2
0 Wa N/mm?2
M Ast T
N U T a
Q Ns To
B X T 0a
H Oc Aw ( )
dc O ca QC
de Os QS
Asc O sa ow
O Wa
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3 4
M kN m -56.965 -9.468 26.169 -56.965 -1.238 28.901
N kN 99.106 99.106 99.106 108.226 108.226 108.226
Q kN -108.226 -68.344 129.609 76.787
B m 1.000 1.000 1.000 1.000 1.000 1.000
H m 0.350 0.350 0.350 0.400 0.400 0.400
dc m 0.080 0.080 0.080 0.080 0.080 0.080
de m 0.270 0.270 0.270 0.320 0.320 0.320
Aee D16@125 D16@125 D16@125 D13@125 D13@125 D13@125
cm? 15.888 15.888 15.888 10.136 10.136 10.136
Aot D16@125 D16@125 D16@125 D13@125 D13@125 D13@125
cm2 15.888 15.888 15.888 10.136 10.136 10.136
U m 0.400 0.400 0.400 0.320 0.320 0.320
Ns 15 15 15 15 15 15
X m 0.104 0.248 0.126 0.104 0.400 0.133
Oc N/mm?2 4.983 0.718 2.219 4.448 0.294 2.120
O ca N/mm2 6.000 8.000 8.000 6.000 8.000 8.000
O () () O () O
O s N/mm2 118.737 0.958 37.942 137.930 0.000 44 .824
0 sa N/mm?2 160.000 160.000 160.000 160.000 160.000 160.000
O o o O o O
T N/mm?2 0.401 0.253 0.405 0.240
T a N/mm2 0.800 0.400 0.800 0.400
o () o ()
T o N/mm2 1.152 0.728 1.456 0.862
T o0a N/mm?2 1.600 1.600 1.600 1.600
O o O o
Au o2
Qc N/mm?2
Qs N/mm?2
(] N/mm?2
0 Ja N/mm?2
M Ast T
N U Ta
Q Ns To
B X T 0a
H Oc A ( )
de O ca Qc
de Os Qs
Asc O sa aw
O wa
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32.275kN

68.725kN

2.650
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2.150

2.700



4-1

W (kN/m2)

€

Mx1
Mx2

Myl

My2ma:

Qxl
Qy1

Qx1

X

32.275 (kN/m2)
2.650 ()
2.700 (m)

1.019

-0.0531 x 32.275 x 2.6502
0.01836 x 32.275 x 2.6502

-0.05222 x 32.275 x 2.6502

= -12.035 (kN m)
= 4.161 (kN m)

= -11.836 (KN m)

= 0.01733 x 32.275 x 2.650% = 3.928 (kN m)

W (kN/m2)

LIl

My2

Qyl

Mx2

Myl

Y

v

Mx1

ly

0.445 x 32.275 x 2.650 = 38.060 (kN)
0.4407 x 32.275 x 2.650 = 37.693 (kN)

0.09
|
|
: L7 | [T -Wx1
0.08 f o
‘ B L)
‘ L
|
|
0.07 |
|
L
|
|
0.06 |t
| - -My1
e E— Wx2(k)
1 T 1
0.05 Qx1
A ]
0.04 | AT o
| 1
|
|
0.03 e J
‘ My2(k)
[ A
|
0.02 |
|
| N
0.01 My2max
|
|
|
0.00
1.0 1.5 2.0 2.5 3.0
1.019
ly
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5 (v =0)

7 0.20

7 0.10




&)

(1-viv2) Mat+t(va2a-vi) Ma
M2 =
1-vi2
(v2a-vi) Ma+(l-vi v2a) Ma
My2 =
1-vi?
Mx2 , My2
Mx1 , My1
V2 =0.2
Vo1 =0
0 v =0.2
(kN m) (kN m)
Mx1 -12.035 -12.035
My1 -11.836 -11.836
Mx2 4.161 4.947
My2max 3.928 4.760
(©)
M 0 A
(kN m) (kN) <
0.000 0.000
A -11.836 37.693
B 4.947 0.000 .
4.760 0.000 N
-12.035 38.060
¢ 0.000 0.000
0.000 0.000
b -11.836 37.693 -
—
D
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4-2

€Y}
4
Wo 36.450 (kN/m2)
Ix 2.650 (m)
ly 2.700 (m)
ly /7 Ix 1.019
Mx1 = -0.02665 x 36.450 x 2.650%2 = -6.822 (kN m)
Mx1max = -0.02764 x 36.450 x 2.650%2 = -7.075 (kN m)
Mx2 = 0.0092 x 36.450 x 2.6502 = 2.355 (kN m)
My1 = -0.03392 x 36.450 x 2.6502 = -8.683 (kN m)
My2 = 0.00864 x 36.450 x 2.6502 = 2.212 (kN m)
My2max = 0.01025 x 36.450 x 2.6502 = 2.624 (kN m)
My3 = -0.01781 x 36.450 x 2.650%2 = -4.559 (kN m)
Qx1max = 0.2448 x 36.450 x 2.650 = 23.646 (kN)
oy = 0.3297 x 36.450 x 2.650 = 31.847 (kN)
Oys = 0.1212 x 36.450 x 2.650 = 11.707 (kN)
0.06 ‘ 0.06
|
|
l
0.05 [jixdn l B 0.05
LIl N : g
3 L TN 1
- 0.04 = : 0.04
R
\ K e \\v : o
My3 L \? % //—MX-P
bl X
Wl T 0.03 N &/f lydnax o3
\ Mx\z a Nl oYY
\ = |
0.02 <%3\\\
Qx1max 3 ST Lok
~= ‘
My2max 001 Jth” ;\\:k"//j
Mxlm.:-fxL - 1 QT ™~ My2max
—f ~ My2—"T | ™
|
WO (kN/m2) ’ Myl Qyl | 0,00 ‘ w2l oo
Ix 2.0 1.5 1.0 1.5 2.0
1.019
_ly _ly
Ix = T Ix
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5 (v =0)

7 0.10




&)

(1-viv2) Mat+t(va2a-vi) Ma
Mx2 =
1-vi2
(v2a-vi1i) Ma+(1-vi va) M
My2 =
1-v42
MxZ,MyZ
Mxl,Myl
V2 =0.2
V1 =
v =0 v =0.2
(kN m) (kN m)
Mx2 2.355 2.880
Mx1max -7.075 -7.075
My1 -8.683 -8.683
Mys -4.559 -4.559
My2max 2.624 3.095
©)
M Q A
(kN m) (kN) <
A 0.000 0.000
-4.559 11.707
2.880 0.000
B B
3.095 0.000 .
c -7.075 23.646
0.000 0.000
0.000 0.000
D D
-8.683 31.847 _
—»
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4-3

M (kN m) Q (kN)
0.000 0.000 0.000 0.000 0.000 0.000
A -11.836 -4.559 -16.395 37.693 11.707 49.400
4.947 2.880 7.827 0.000 0.000 0.000
° 4.760 3.095 7.855 0.000 0.000 0.000
-12.035 -7.075 -19.110 38.060 23.646 61.706
¢ 0.000 0.000 0.000 0.000 0.000 0.000
. 0.000 0.000 0.000 0.000 0.000 0.000
-11.836 -8.683 -20.519 37.693 31.847 69.540
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4-4

B
M KN m 0.000 -16.395 7.827 7.855 -19.110 0.000
N kN
Q kN 0.000 49.400 0.000 0.000 61.706 0.000
B m 1.000 1.000 1.000 1.000 1.000 1.000
H m 0.300 0.300 0.300 0.300 0.300 0.300
dc m 0.080 0.080 0.080 0.080
de m 0.220 0.220 0.220 0.220
Ao D13@125 D13@125 D13@125 D13@125
cm? 10.136 10.136 10.136 10.136
Aot D13@125 D13@125 D13@125 D13@125
cm? 10.136 10.136 10.136 10.136
U m 0.320 0.320 0.320 0.320
Ns 15 15 15 15
X m 0.080 0.080 0.080 0.080
Oc N/mm?2 2.120 1.012 1.016 2.471
O ca N/mm?2 8.000 8.000 8.000 8.000
(o) o) O (o)
Os N/mm?2 55.651 26.568 26.663 64.867
O sa N/mm?2 160.000 160.000 160.000 160.000
o o O o
T N/mm2 0.225 0.000 0.000 0.280
Ta N/mm?2 0.783 0.783 0.783 0.783
(o) [e) O [e)
To N/mm?2 0.807 0.000 0.000 1.008
T 0a N/mm2 1.600 1.600 1.600 1.600
o ] O o
Ay o
Qc N/mm2
Qs N/mm2
ow N/mm?2
O a N/mm2
M Ast T
N U ) Ta
Q Ns To
B X T 0a
H Oc A ( )
de O ca Qc
de Os Qs
Asc O sa aw
O
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M KN m 0.000 -20.519
N kN
0 kN 0.000 69.540
B m 1.000 1.000
H m 0.300 0.300
dc m 0.080
de m 0.220
D13@125
Asc
cm? 10.136
Aot D13@125
cm? 10.136
U m 0.320
Ns 15
X m 0.080
Oc¢ N/mm?2 2.653
O ca N/mm?2 8.000
(@]
Os N/mm?2 69.650
O sa N/mm?2 160.000
(o)
T N/mm?2 0.316
T a N/mm?2 0.783
(@]
T o N/mm?2 1.136
T 0a N/mm?2 1.600
(o)
Au o
Qc N/mm2
Qs N/mm2
o N/mm?2
O Wa N/mm?2
M Ast T
N U ) T a
Q Ns To
B X T 0a
H Oc Ay
dc O ca QC
de Os QS
Asc O sa Ow
O Wa
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€Y

U =W Y ow

93.600 x 10.000 = 936.000 (kN)

Y ow 10.000(kN/m3)
Vb (m*)
(m) (m) (m) (m%)
1 3.000 6.000 5.200 93.600
93.600
@
W =Ws + W
= 648.000 + 723.075 = 1371.075 (kN)
Ws
Wo
Wo = Wi + W2 + W3 + Wg = 723.075 (kN)
) m (N/1) ()
1 18.000 2.000 18.000 648.000
648.000
©)

=W/ U= 1371.075 / 936.000 = 1.465 1.2
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6-1
€Y
N/mm2 N/mm2
1 4.983 6.000
1 118.737 160.000
1 0.253 0.400
1 1.152 1.600
@
N/mm2 N/mm2
2 5.625 8.000
2 119.599 160.000
2 0.267 0.400
2 1.295 1.600
©)
N/mm2 N/mm2
3 4.983 6.000
3 118.737 160.000
3 0.253 0.400
3 1.152 1.600
@)
N/mm2 N/mm2
4 4.448 6.000
4 137.930 160.000
4 0.240 0.400
4 1.456 1.600
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®

N/mm2 N/mm2
D 2.653 8.000
D 69.650 160.000
D 0.316 0.783
D 1.136 1.600
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6-2

-44_691 -44 691
-44.691 -44.691
20.967
26.169 26.169
28.901
-56.965 -56.965
-56.965 -56.965
75.647 75.647
99.106 99.106
99.106 99.106
108.226 108.226

99.106
75.647
-75.647
-99.106
-129.609
-108.226
108.226
129.609

-1-126

(kN)

(kN)

(kN m)



6-3

@
(mm) (mm)
D16 125 D13 125
D13 125 D13 125
D16 125 D13 125
D13 125 D13 125
(mm) (mm)
D13 125 D16 125
1 D13 125 1 D13 250
D13 125 D16 125
D13 125 D13 250
(mm)
1
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@

6.000

3.000
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3) A-A

D16 125
—\D16 125
o
( Ld Ld L d Ld LJ L d L J LJ L J L J L d L J LJ Ld L J L J L J Ld L J \ 8
» o I » o e
D13 125/Dl3 125
» o » o
» o » o
P o J L
P o J L
wn n
N N
~ P o — ] L
(e} [{e]
2L 4|2 L g
™
P o J L
» o » o
D13 250 D13 250 L
» o » o
P o J L
D13 125
- ———"=, D13 125 -
L] L] L] L] L] L] L J L] L J L J L] L J L] L] L J L J L J L] L J o
<
\ [} [} [} [} [} [} Y [} Y Y [} Y [} [} Y Y Y [} Y J OI
D13 125/Dl3 125
0.350 2.300 0.350
3.000
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3.700



(4) B-B

3.000

0.400

0.300

D16 125 16 105

'd U U U U U U U U U T U U T T T T T T T T T T T T T T T T T T T T T T T T T T Y YT N\

P q P q
L D13 125 [ D13 125 L

P q P q

P q P q

P q P q

P q P q

P e P e

P e P e

P e P e
g b d g b d
— P e — P e
2 P q 2 P q
Olphd| X
P e P e

P e P e

P e P e

P q P q
D13 125 "1l b3 125 ::
P q P q

P q P q

P e P e

P e P e
[ D13 125 py3 105 [
A\ S 60 6 6 6 60 0 0 60 0 0 6 6 60 6 6 6 60 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 06 0 0 & J

D13 125 [ D13 125
.300 5.400 .30

6.000
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3.700



(kg/m) (mm) (cm?) (cm)
D10 0.560 9.53 0.7133 3.0
D13 0.995 12.7 1.267 4.0
D16 1.56 15.9 1.986 5.0
D19 2.25 19.1 2.865 6.0
D22 3.04 22.2 3.871 7.0
D25 3.98 25.4 5.067 8.0
D29 5.04 28.6 6.424 9.0
D32 6.23 31.8 7.942 10.0
D35 7.51 34.9 9.566 11.0
D38 8.95 38.1 11.40 12.0
0 sa = 200 N/mm2
o ck=21N/mm? o ck=24N/mm?2
T oa=1.6N/mm? | T oa=1.4N/mm?
D13 410 (406) 470 (464)
D16 500 (500) 580 (571)
D19 600 (594) 680 (679)
D22 690 (688) 790 (786)
D25 790 (781) 900 (893)
D29 910 (906) 1040 (1036)
D32 1000 (1000) 1150 (1143)
x 10.5 10mm
R L
(mm) (mm)
D13 140 220
D16 170 267
D19 200 314
D22 240 377
D25 270 424
D29 310 487
D32 340 534
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